[image: ]
[image: ]




[image: ]



[image: ]

[image: ]





[bookmark: _GoBack][image: ]


image5.png
1
Ty
L_eGKfa,

G r\}%;ha,
= Oh/é

7
Wiz 7
a%‘_i.lgwéb
+=10.22°





image6.png




image1.png
™ 2% k'.'r\)
=
/{’ {}\e{ Tx - T:( =0
> { i
~ \k‘
| AT neby = Dot
)‘_\ i \‘/A : )
“ Loy 2T,
AT e/l 50%)@ g) /;a)
T=[HoN)
Q) F=l02N
7 €&—¢ mz=27.0k
/ Foet, = — 118 GRS
=1b.ON
1b.0 = "‘E;"’“‘}:-—)GU

MJ{ (=102 N> +(1.DN)” R

5 —/0.2 :
ICT.ON@;TZ.B 4120
a = Bt 1108 1570470 2515)
B 0k

b> Df\] 0
2\ Fo = F coBli=tess
< Db
’)'F‘Lf F;5IM5D «-Md?

’5?47 - P70 Frot
F = JD’L!\/ by

r"‘"e = 2N cosB0°= 3, 837\/
Fﬁeﬁa . ON = 10.2N - 30" = 109V

Pret= AB I3 (0qm"  fan” (L2 )=

[/40/\/ 0 510 55"7 e





image2.png
Qo Yk (2807 (4%9(%)
T

F—nef‘): /J; — }/)12?’ = V)’IZO\

il =iz ):)(‘?8}*’1?2) :(5,2/3)@(@

/7/:





image3.png
R
2 L@ anN + (k). 81 7%2)
N =

§-: m;fﬁ/‘ﬁ% V= U +0«+

u= 0% )5%” e 75 =

= .5
Z\’ 2e o= Q.b0D 7%
_(:;/7‘5580

Ee'{:( = F’; “F Bl
F‘; INESeL D)@(O b /s)

I = 70.1%/\/ = Fleo

G





image4.png
*
£-e 10

“\;7:
7 . e
3 b ' - @ e
\'f J/ Te 45\‘\%/
A

o ¥

‘V" £ b0®
F, =450 Neos#D T =F a9
PA(// 39"}'7/\/ 4 f:B‘?:FBS’h[aDO
Fa, = 400N sin 4
Ay Y

= 284A3N





